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Section A {56 marks]

Booklaei A

For each gueston from 1 to 28, four oplions are given. One of them is the correct answer.
Make your cheice {1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.

1 Siudy the dassification chari below.

Which of the following represents the correct group of organisms for W, X, Y and 272

@

]
{

Organisms
{
o l
Make their own focd | | Do not make their own food |
. ﬁ | -
|
i
Reproduce by | Reproduce by | | Canbeseen by Can only be seen
seeds spores the naked eye under a
.. migoscope
® v ‘

{1} | Flowering plants | Ferns _ Fungi Bacteria "
{E} Flowering plants r Ferns j Bacteria Fungl | :
{3} Ferns EFiowering plants hﬂﬁmdi 1 Bacterla :
7 — J Fiowsring planis e _Fl_j.ng'
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2 The diagram below shows insecis X and Y.

InsectX i
young adult ' young adutt

Which of the foliowing shows the correct number of stages of life cycle for Insect X

and Y?

Cinsect X insect Y
& i = _ _ e
@] 3 | | 4 |
{3) 4 3 T
(@) | 4 - 4

3 Fourstudenis were discussing on how plants and fish take in oxygen differently. They
made the following statements as shown below.

Raj Fish take in oxygen into their blood through their gills.
Alice Fish take in oxygen into their blood through their mouth,

Hakal | Plants have tubes that take in oxygen

Jongthan | Piants have tiny openings on their leaves to take in oxygen. _

WWho made the comect statement{s)?
{1) Raj only {2) Haikal enty

(3} Alice and Haikal only (4) Raj and Jonathan only
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4 Which part of the cell controls celf activities?

(A @8
3)C ' (4D

5  Rajes conducted an experiment using four similar flowers, W. X Yand Z.

From each flower, she removed different parts of the flower.

Flower Part{s) semoved 2
W N " Allofpart C ;
X All of parts A and C !
¥ All of part B }
Z Al of parts Aand B [

Which of the foliowing flower(s) will continue to bear fruits?
{1 W only {2) X and Z only
{3) W and X only {4) Y and Z only
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6  Rahim conducted an eﬁa;e;imer’at as shown below.

lighted ~—B=
jorct wi_jﬁ"

waler
ievel 7
waler
pl — container

He switched on the forch and observed that water level Z in the container moved

after some time.

in which direction did waterievel Z move and w_k}at was the reasonfor the movement?

Direction which water level Z moved

Reason
M T Piant gives ottt wa&gr during
: : phictosynthesis.
@) T : Water evamtes from the
container. ‘
Plant gives off oxygen in the |
- 3) l water. |
() o “ Plant takes in water during
¥ photosynthesis.

7 Thegraph below shows the average global femperature in the atmosphere from 1995

to 2018.

A
Average global
temperature (° C)

i i

/

3 i 3 =

1995 2000 2005

1 i
2010 2015

1 >
2019 Year

Which of the following actions could cause the graph as shown above?

A Air pollution

B Reforestation

C Deforestation

D Saving natural resources

(1)Aand B only
(3)B and C only

{2YAand C only
4) AB,CandD
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8 Anmmal T, as shown i the diagram below, burrows inio the mugd at the hotiom of

streams when the weather becomes hot and dry. lt will go into a deep sleep until the
wet season returns,

e % Ry

Which of the following is 3 struttural adapiation that helps Animal T o burrow into
the mud more easily?

{1) A long body
(2) A streamlined body
{3) Ability to go inlo a deep sleep

(4) Searches for darker places to burrow
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3  Shudy the fowchari below.

[T . h
Organism -}
I - : -

;

/ Does i have thres

‘body parts?

Does it produce
mifk for iis young?

Does it breathe
through moist Yes R )
skin? \. S

Which of the following shows the coarrect group of organisms for P, Q, R and 87

P Q R | s

) Marmal | Reptile Amphibian | insect

o R T e e Bae

3|  ised | Mammal | Repfile T Fish

@) insect [ Mammal | Amphibian Fish
8
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10 Blood samples were colieciad from blood vesseis, G and H. as shown below.

Heari

ﬁ(ey:

E
i

G IH

!
|
|

l
|
Fow of bicod %

b

Small intestine i

The blood samples were tested for amount of digested food, oxygen and carbon

dioxide
Graph W
amount of digested food
{ur}‘ts)
Graph X Graph ¥ _
amount of oxygen {units; amacunt of carbon dicxide
A {un:}s]

G H
Blood vessel Blocd vessel

Which of the above graph(s) is/are commect? -
(1) W only (2) X only

{(3) WandY aonly (4) X and Y only
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11 Diagram 1 shows Flower A which gives off a sweet sceni when in full bioom. Diagram
2 shows a magnified view of two kinds of pollen grains, J and K. '

g S rough surface

/__Flower A smooth
= -.-;:'_.i' Surface
T

— ._"'..5_4"[‘?
R
—_ ;i fi T
polien grain J pofien grain K
Diagram 1

Diagram 2

Which of the following shows the most possible pollen-grain produced by Flower A
and its pollination method?-

Polien grain B - Pollinated by _
(1) J | Wind ]
- - ) e
@) o 3 i Insects a
@ K _ msects
m———

0
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12 Tom set up four test tubes, G, H,1and Jinan expenmeni each simiiar o the sei
up shown. beiow

stopper ' -

tight
N Yox

- lesi tube

He added different amounts of baking soda into the four test tubes and measured
the amouni of water that wes taken in by the plant.

Note: Baking soda increases the amount of carbon dioxide in the water,

[ Test Number of scoops of baking | Amount of water taken in by the
tube soda added . plant (m})
G 1 20
H 3 28 -
P 5 _ . 34 }
g J B — ? - -36

What is the most possible aim of Tom's expenment?

{1) To find out if amount of light affects the rate of pholosynihesis.

{2) To find out if amount of water taken in afiects the rate of photosynthesis.

{3} To find out if amouni of carbon dio%idel affecis the rate of photosynthesis. -

. {4) To find out if amount of water taken in affects the number of scoops of baking
soda.

11
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12 The graphs below show how the population of an aquatic organism, A, changes over
a peridd of ime, under the influence of four different environmental factors:
s amount of ight
» amouni of dissolved oxygen
« temperature of environment
+ population of ancther organism 8

Pepulation size of
organism A

AVARN

Time
S
=
21 S
ey L4
S c &
= O =
3 58
E \ a0
< g
Time Time

—
- A
o L =
o = 3
S o = o
= E 5 a
oS C — @
@ £ o 2
a-s 2 e
el e =1 '
O o 5 '
b £

=3

Tine Time

The population of organism A is directly affected by
{1) amount of light only

(2} population of srganism B only
(3) amount of light and amount of dissolved oxygen only
(4) population of arganism B and temperature of environment only

e

12
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14 Study the food web below

P >0 G Lot
£ .

s0i] with

7 Tertilisers

plant P

Which of the following actions can he take so that he can atiract organism S into his
garden to ensure that plant P grows well?

{1) Remove organism Q in his garden.
(2) Put plant R near plant P in his garden.
(3) Increase more organism T in his garden.

{4) Pufi less feriilisers in the scil for plant P in his garden.

13
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15 A bu}; is wearing 2 helmet that protects his head when he is skateboarding.
The helmet is made of material £

___——helmet =

Which property of material E aflows the helmet to perform the function as

descriped?
(1) strength (2) flexibility
{3) waterproof {4) fransparency

16 John carried out an experiment on four magnets, P, Q, R and S. He put each
magnet into a pile of nails and counted the number of nails each magnet attracts.

Magnet _i_Number of naiis atfracted
¥ 10
Q 5
R 2
S 6

Based on the information above, which of the following statements is true?

{1) P is the weakest magnet.
(2) R is the strongest magnet.
(3) Magnet Q is weaker than magnet R,

{4} Magnet P is stronger than magnet S.

14
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17 The diagram below shows an experiment set up by Ramesh. He ovserved the
shadow formed on the screen when the torch was shone.

F sCreen

torch wooden rubber glass
plock ball shest

Which of the following best represents the shadow cast on the screen?

&)

» O

(H

3

18
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18 Shuhui filled up identical beakers A and B with water and small stones as shown

19

below.
-500mi - 500mi B
400 400
360 +300
S A—— _ ot
S B '
A ¥3i B
(with water) {with smali stones)

What would be the water level in beaker B when all 1he water in beaker A is
transferred to beaker B?

{(hz200m - (2)-Between 300m] and 400my
{3) 400mi {4) More than 400m!

Peter put the same amount of cold water at 10°C into a styrofoam cup and a plastic
vase. When he touched them, his hands felt that the plastic vase was colder than
the styrofoam cup. _

cold water at
ec

shyrofoam cup plastic vase
Which of the following explains why Peler's hands felt that the plastic vase was
colder than the styrofoam cup?
(1) The plastic vase gained heat slower than the styrofoam cup.
(2) The plastic vase conducted heat faster than the styrofoam cup.
(3) The plastic vase had a lower temperature than the styrofoam cup.

(4) The plastic vase had more contact with the hand than the styrofoam cup.

16



CBS Preliminaiy examinafions {2018}, Standard Secience, P6 Booklet A

20 The diagram below shows the waier cydle at a river.

=
u _process L - . "
’ \
.r/ \\\ 8
raintall / il '

o / _ . process K

Which of the following correctly identifies processes K and L and states of water M

and N?
i Process Siate of water

K | & w1 N
{1 condensaion |  evaporation gas- | liquid :
2 evaporaion | condensation | quid | gas !
S evaporation |  condensation | gas. |  fiquid
e b et —
{4) _ condensation | evaporation | liquid | gas ]

21 WNorah was {old to investigate if the arrangement of the bulbsin 8 circuit affecis ==
brightness. She then set up four circuits as shown in the diagrams below. All =
components are in good working condition.

R ST SR VR
® 7 ® ]
. ©

S

@ f;.\i}

A ' B

L

Which of the two circuits above should she use to ensure a fair test?

(1) Aand C only (2} B and C only

{3) A and D only {(4) Band D oniy

17
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The diagram below shows two idenficat glass blocks, A and B. Samy pushed them
with equal amount of Torce on a fable. He found thai block A traveﬂed alonger ~

distance than block B.

before after . glass block

A » | A

A g iable surface
% : table surface
baefore

Which of the following statements is the most possible explanation?

Surface on which block A was Surface on which block B was |
pushed pushed i j

) | dry T wel
(2} dry - smooth
[&) rough | dry
(4) | smooth il i rough

23 A beaker conlaining substance P was left in the classroom for an hour.

\ }

At the start

substance P
I

After an hour

Which of the following statement about substance P is true after an hour?

{1) Substance P can be compressed.
{2) Substance P has a definife shape.

(3) Substance P has changed is state.

-{4) Substance P has changed its volume.

i8
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24 Jansen left three similar glass skides in three roams, A Band C f{if an bour
The three rooms have different rsom iemperatures.

s oy —

;
I
]
B
‘ . glass
] ! slide
i

é
i
[ 1]
i 2 glass {;[ﬁ glass
| L shde f slide
? i

room A room B room ¢

(R

he noficed water droplets on the glass slide from room C but not on the glass slides
from rooms A and B.

The three glass slides were then moved o room D immediately. Afier five minutas

water
droplets
formed

room D

Which of the following statements could be trua?
(1) Room C was warmer than room D.

(2) Rooms Aand B were colder than room D. -
{3) Rooms A and B were warmer than room D'

{(4) Room C had the same temperature as room D.

15
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25 Zaki carried oul an experiment with three diferent objects. The ends of abjecis X, Y
and Z are labelled as shown, :

[~ =) G DE)E. 3

object X object Y object Z

Firstly, he brought the ends of object X and object Y close to each other to test if they
would repe! or atiract.

~He recorded the result of his experiment in the table below.

i Object Y 3

c D ‘
. A Alfract Repel
Ob}l%i e . B Repel Afiract

Secondly, he bmugﬁi the ends of object Y and object Z close to each othar to test if
they would repel or attract.

He recorded the result of his experiment in the table below.

Object Z o

| E F
. C Aftract _Aftract

L PhieRtY g Atiract Atiract ]

Based on the results given above, which of the following statement(s) below isfare

true?

A Objects X and Y are magnels.

B Objects Y and Z are not magnets

& When separated, all Hhree ohjects, X, Y and Z are magnets.
{1) A only {2) B only

(3) A and C only (4) A, Band C
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28 Sludy the diagram below

baskeibail

A

A ’

1) ) .

1"{}" . :
\‘e.- I ———— “i k

Jordan aimed and shot a basketbali into the baskeiball hoop. The dotied aITows in

the diagram above show the path of the basketball from the time it was released at
point A to the time it sfopped at point F.

Which of the following statemeni(s) is/are true?

A The ball has no Kinetic ensrgy at point F
B The ball has no potential ENergy at pamt A,
C - The ball has the most gravitationat polential energy ai point C.
0 The ball has more Gravitational potential energy at point D compared io
point B.
(1) A only (2) B and D onily
{3) Aand C only _ (4}A BandC only
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27  Benjamin inserted four identical nails info a piece of soft wood. He dropped four

biocks P, Q, R and S with different mass from same height onto each of the nails
as shown below.

§d

7 ; 7 f'}' T ‘
7

The length of nail thai did noi go info the wood {d) was measured and recorded in

ihe table below.
Length of nail that did not go into
Biock _
; the woed d {cm)
i '
i F 15
_Q 0.2
- 172
S 0.8

Which of the following statements is true?

(1) Block S is lighter than Block R and Block Q.
{(2) Block P is lighter than Block R and Block S.
{3) Block P is heavier than Block Q and Block S.

(4) Block R is heavier than Block P and Block Q

22



28 The diagram below shows 3 cylinder filled with 400 cm?
SEensor can measure the intensity of fight as it passes through

- One minute after the light is tumed ©i, 2 miX
Is poured into the cylinder. The mixture slowly sinks io the botinm o

light source

g

CBS Preliminary examinalions {2019), Standard Science, P6

ture of 100 cm® of garden soit

oi clear waier.
the waier,

Booklat A

The light

and ciay
T the cviinder.

cylindar fiiled with
i 400 om® of clear water

r-"‘—""“""JJL

fight sensor

Which one of the graphs below shows

{ the change in the light intensity recorded
throughout the experiment after

the light is turned on?

(1 (2) ;
4 i 2
» ey | o
L] H 93|
= b=
[ = .
= i i e
£ E o
9 = s
- =
! o ) f
1= =
b | =3 i
o Q
£ =
<< <X
o i
Time (min) Time (min)
(3) {4)
&
F-9 ——
= &
= = {
-5. :‘—:.t \\\‘\ ‘
i — . g | '
sl | = BN
3 iy e
L 5 - ks \
: = ~— L
g T g
£ i 2
< ] ‘ N
2 N E '
i “  Time (min) Time (min)

End of Booklet A
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Section B {44 marks]

For questions 29 1o 40, write your answers in this bookiet.
The number of marks available is shown in brackeis [ 1at the end of each question or
part guestion.

28  Muthu set up an experiment in a dark room as shown below. He wanted fo find out i
the colour of light affects the amount of oxygen given out by the water plant after
three hours.

lighted

torch />~y oxygen
emitiing e

colour X

—t

*F’ifa

conlainer

water

waier plant

He repeated his experiment with colour Y and Z and recorded his results in the

table below.
| Colour of | Amount of water at | Amount of oxygen produced |
light the start (mi) by the plant {cm?)
- X 400 ) 02
.Y 400 05
S - 400 E 0.3 ) |

(a) Based on Muthu's resuits, which colour of light allows the water plant to have the
highest rate of photosynithesis? Explain your answer. !

(b} Explain why Muthu set up the experiment in a dark room instead of the school field.
1]

{Go on to the nexi page)

7|

SCORE
*/ ? |
3 i
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30 Judy kept her leather handbag in a dark and damp cupboard. When she took the bag
o eut of ’the cupboard after one month, she saw mould growing on her bag.

- moid

Her brother told Judy to put her bag in a brightly-iit and sunny place so that mould
will not grow on her handbag in the future.

(a8} What conditions would allow the meuld to grow on the bag? {1}

(o) Explain why her brother's suggestion will work. m

{c) - In order to prevent mould from growing on her leather bag in the future, her brother
told her to apply a layer of wax on the leather bag.

Expiain how can applying a layer of wax on the bag can help in prevent ng the growth
of mouid on it [1

==xXGo on to the next page)
SCORE

Ve 3
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31 Fammer Tan wanted fo grow a better species of cherry tree by using a special method
of joining the parts from two different species of cherry trees. The diagram below
shows how this method is done. '

el
upper part of W
chemy tree B —i-.cherry tree E

-siring io tie the
stems togeiher

lower part of
chersy tree A

T

il ﬂ# /\Nx

Siep 1: Cut the stems of rees A and B Step 2: Join the stems of trees A
and B and tie them up

{a) Based on the cut stems, give two reasons why this method may fail. . [2]

(b) DExplain why: '
i) the upper part of cherry tree B was chosen. 1]

{f)  the lower part of cherry free A was chosen. {1

{Go on to the next page)

SCORE T‘

5 i// 4
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32 The graph be!ow shows the re anﬂnshtp between the size Of lungs of a person and
the amount of air it can hold in the !ungs

_Amouni of airthe lungs
can hold {cm?)
Y

— i » Size of lungs {cm?)

{a) Based onthe graph, what is the refationship between the size of lungs of a person
and the amount of air it can hold? i1

Mr Lim had a bacterial infection which aﬁ‘ecied his Jungs. The bacteria caused his
lungs 1o be filled with water.

Atthe hospital, he found that his breathing rate was higher than when he was heatlthy.

Breathing rate per fja_f_ziﬁ
| When he was healthy i 20 )
When he had a bacterial infection 32
(o) Explain why his breathing rate increased when he had a bacteriaf infection. 2]

{c) The doctor noticed that Mr Lim’s heart rate also increased when he had a2 bactedal

infection. Besides getlting more oxygen into the body, explain why his heart rate
increased. [

e et

{Co on to the next page)

SCORE | ~
// 4

/’

<
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33 Aiden conducied an experiment with three similar paper aeroplanes, A, B énd C,as
shown below. He cut the wings of B and C as shown below.

wings

A

He launched the paper aeroplane from the same teight and recorded the distance
that the paper aeroplane travelled before reaching the ground.

Paper acroplane | Surface area of wings {cm®) | Distance travelled {cm)
100 ,

A 32

B 80 25

C 50 - 16 N
{a) State the aim of Aiden’s experiment. 1

(b) State the force that: _
i caused the plane fofall to the ground:

PR—— (1

()  caused the plane to slow down: SIS

Aiden then compared seeds P and Q as shown below and observed their wing-fike
structures that help in their dispersal.

seed Q
{c) Based on Aiden’s observations and experiment above, can he conclude which seed,
P or Q, can disperse a further distance? Give 2 reasons for your answer. 2]

(Go on io the next page)

SCORE /
: 5
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34 Diagram 1 shgws how Animal Fis aﬁen found restmg and staymg still near Animal
' G in the ocean. -

Animal G

Animal F

Diag?ém 1
{a) State one benefit for Animal F to be found near Animal G. ' 1

Diagram 2 shows how plant H lives on Animal G. Plant H gives Animal G its colour
when it lives on Animal G.

———tiny plant H

growing on
Animal G
~ part of
Animal G
Enlarged view of
Animal G

Diagram 2

{Q34 continues at the-next page)
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Diagram 3 shows what happens to Plant H and Animal G when the temperature of
water becomes 100 high.

iy . plant H#

R
W!‘ren the
temperature
- of waler
increases
Enlarged view of Enlarged view of
Animal G Animal G
Diagram 3
(by Explain how giobal wamiéng causes Animal G to lose its colour. 2]

{c) Besides global wamming, name ancther man's actmiy thai can cause Animal G io
lose its colour. Explain why. {2}

(Go on to the next page)

SCORE
8 - 5 !
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35 Vasanthy set up ihe following model 1o collect pure water from sea water
She placed the sef-up under the shade in his garden

_ T --»-,H‘ L glass cover |
i /
r
/
;.f
container A \K container B
l_‘ 1 Piw:" e e e T e e Ao o
sea water
(a) Explain how pure wateris coflected in containers Aand B. . [2}

Vasanthy dropped a stone accidentally on ihe sel-up and the glass cover was
broken.

She repeated the experiment and continued to leave the set-up in the garden and
observed the amount of water collected in containers A and B.

broken glass cover T —

-

container A \ coniainer B

sea water

(b) Would the amouni of water collected in containers A and B be less, same or more
than her first attempt? Expiain your answer. 1

{Goonio the nexi page)

10 ' SCORE 1 7\
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36 Kelvin connected the batiery of his phone (o a charger with wires. The chaiger was
then plugged intc the power supply.

battery of

™
phone ! B ‘3
\ ! _’.; 5
N
power supply
, charger
P, }
F g N ,} "A/\\
TN Wires
- {a) Wrie down the energy conversion in the battery and wires when it is being
charged. {2
» +
Energy Energy ) Energy
(in the wires) (in the baitery) {in the battery)

Kelvin studied how the temperature of the room affects the time it takes to charge
the battery of his phons.

} oy | 1ime taken for batiery 1o be
| Room Temperature °C) ¢ ity charged {ﬂliﬁges}

} 25 ; ] 100

1 30 B 120

i 35 ‘ 180

{b} Based onthe able above, explain why it is best to keep the phone charging in a
cooler place. [}

o (Go onio the next page)

| SCORE -
t .3

11
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37 Aaron set up the following experiment. Four strips A, B, € and D made of different

fabric were hung from a stand such that the end of each sirip was dipped into a
coniainer of coloured water. '

{abric

stand

. coloured
s
water

The diagram below shows the four strips of fabric after three hours. The shaded parts
indicate the absomption of coloured water by the four strips of fabric.

A B

(a) Aaron wants to have a T-shirt made for his sister who sweats a lot so that she can
wear it during an outdoor running race.

Based on the results of his experiment, which fabric should he use to make the
T-shirt? Explain why. ' [1]

{b) Based on his experiment, state a properly of Material B that he can conciude.  [1]

(Go on to the next pagé)
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CES Preiiminary examinations {20138), Siandaird Science, P8 Bocklei B

35 A Teh Tarik drink is hot tea poured from ore cup io another repeatedly as shown
below. :

cup 1 e Aidit's hand

Tark

{a) Aidil measured the temperature of his Teh Tark drink before and afler he
repeatedly poured it from one cup to anacther for ten fimes. What would Aidil
observe about the temperalure of the Teh Tark drink? Explain why. [2]

{b) Aidi carried out another experiment by changing the distance, d, between cup 1
and cup 2. Each experiment started with the same amount of drink at 80°C.
He recorded the results as shown below.

Experiment | Distance betwsen Temperature of
cup 1 and cup 2, drink [°C)
d {cm)
A 20 75
B 50 | 70
c__ | 100 65 .
State a canclusion Aidil could make based on the results shown above. 1

{c) Audilleft all the drinks from the three éxperimenis, A, B and C. in the room for an
hour. :

State the temperature of the drinks when he returned. {1

........ : S SRS S SEEEE e —

{Go on to the nexi page)
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CBS Prefiminary examinations {2013}, Standard Science. P56 Booklet B

39 Angelica was given matenials A, B, C and D as described below. To test whether
they conduct electricity, she joined them together and connecied them to an electric
circuit as shown in the diagram below. The bulb, batteries and wire were i good

working condition.
Maierial Type of material
A Piastic
B lron
C Aluminium
B Glass

—& 1]

Experiment 1

in experiment 1, she observed that the buib did not light up. Keeping the rest of the
circuit unchanged, she re-arranged the order of the materials in the circuit below.

—- B | A e iD
Experiment 2
{8)  Willthe bulb in Experiment 2 light up? Explain why. 12}

{(Q39 continues at the next page)
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CBS Pxenmma 7y examinations {2019), Standard Science, P6 Bocklsi B

(b} Us;rg fwo ba'teneq one bulb and all the four maierials, A, B, C and D, re-arrange

them in a circuit such that the bulb will light up. Complete the circuil so that it will
work as desmhed i2]

{Go on to the next pagal

!SCORE“/ ﬁ
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- CBS Preliminary examinations (2019}, Standard Science, P6 Booklet B

40 Mr Lim used the set-up as shown below fo help airpost staff check the mass of
) luggage of passengers. His sel-up helps the airport slaff to separate passengers’
- luggage that are less than 30kg from overweight luggage weighing 30kg or more.
When the luggage is overweight, the bell  will ring. .

luggage

metal platform

baltery

-contact Q

{a) Name two forces that are present in the set-up. [1]

‘{b) What property should the contacts P and Q have to ensure that the set-up works?
{1 -

{c} Explain how ihe bell would ring when a 40kg luggage is placed onto the metal
platform. _ 21

{d) MrLim wants fo change his set-up so that it separates luggage that is below 40kg
from those that are above 40kg. State the change to his sel-up 1o achieve this.  [1]

SCORE
End of Booklet B _ 5
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Q29. N —
a) Y. The\ag;%n of csxygen produced by thep?r?i wa tl’@/%gt amongst

the thre saf light showing'that it photosy esizes the best.
b) Thelight s

in the school field ¢ %& amount of light
entering the q rlight sources can
enter the water p : aff?t_ﬁ@e r’r&\y

Q30.

a) Water, darkness, air and warmth.

b) If it would be in a brightly lit room and sunny place, it will die as mould
grows best at dark places and the temperature might be too high thus
causing the mould4

c) The layer, of wa% :
59 nould Will not grew

s water from coming into contact with the bag
when there is no water.

a) The' ?aod carrying tubes may be damaged and cannot be connected
properly, so food cannot be transported from the leaves to other parts
of the plant. The water carrying tube may be damaged and cannot be
connected properly so water cannot flow from roots to other parts of
the plant.

b) The flowers of cherry tree B are more beautiful and will thus attract
more pollinators.(i) The roots of cherry tree A are strongeseto support
the tree. (ii)



Q32.
a) Asthe size of the !ungs increases mount of air it can hold increases.
b) Water takes up spac ung@@ gen is taken in so he :
needs to breatkz\o\ r t ‘the sa me oxyge-,n
¢) His heartne pumpfaster to transpox b h\dlgested food.

distar{
b} i) Graitatjonal force i) Frict
C) Helcdnnot tell as the surface area of {he wing like struct r%% not
known and these Jeeds are not of thd same type. |

et
Q3a. CO
a) Ani al F to hide from pra, rs
b} Duri cages which cause
the plapt Htddetdch. . /
c) Water pf N i : igh iné % H and plant

H will die an ose its color.

Q3s. “6 z
a) The waterin the sea wéter iz—?ga@ and evaporate as water

vapour. When the warmer water vapour from the sea water comes into
contact with the inner cooler surface of the glass container, it will lose
heat and will condense into tiny water droplets which will drip into
container A and B.

b) There will be Iesser ter than her first attempt. Water that has

evaporated ca@ cape from the hole in the glass cover, causing less
watef.to caﬂdenég the inner surface of the glass cover, resulting in

lesser waterdripping into containers A and B.

. : & \\;.;""«'-"
a) \Electrzcai energy -> Chemical potential energy + Heat energy
b) From the table, the lower the room temperature, the lesser time taken
for battery to be fully charged. This shows that phones charge faster
when the environment is cooler. As a result, it is best to keep the phone

charging in a cooler place.

Q37.
a) A. It absorbs the most amount of colored water.

Z



b)' Material B is water proof.

Q3s. |
3) The temperatuge %E&%ank dri

more surfaceasds to | eat faster 108)

wﬁq{ﬁase The Teh Tarik had

ounding air and

.t e@tance

O

a) No. Elect scny canpot flow throughitHe circuit 35 there isla éaﬂ the
circuit.

b) Pon@ ote: 2 batteries a in parai!el D and A co&}@t to

oute S _batte
cent tery,

el N
Grawtatmn@;f d efastic spring force. %
b} Contacts P an g& be rs o

7
¢} Whenthe 40kgl pll% @ E{ piatform the spring
would compress causing theldon$éct Q to come into contact.

When they come into contact, this circuit would become closed toring
the bell. Electric current cannot flow through the c:rcuxt
d) He should change the qprmgs to be stiffer ones.
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